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Question Number : 1 Question Id : 2549896534 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A multi-programming system can be defined as a:

Options:

1. # computer system that permits multiple users to run programs at the same time

2. # computer system that permits to run similar programs at multiple time

3. ¥ computer system that permits multiple programs simultaneously on a single processor

4. % computer program that runs on multiple processors

Question Number : 1 Question Id : 2549896534 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He! urnfHT Reew a1 82

Options:

1. ¥ Uoh OHT e fA%ed STt UahIfeIeh IUANThTST bl Ueh af THI & TIITH I oh- chl SITAN &dT &
2. % Uoh U1 R Oed STt e G0 UR GHE THITH I S i SgAfd &d1 8

3. ¥ g5 e fAed ST Ueh &) TR R Ueh 1Y g T oY Srafd 3ar &

4. % U QT chgex UHITH STt Ueh1ieieh AR R 3 81T &

Question Number : 2 Question Id : 2549896917 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What of the following characteristics of read-only memory (ROM) makes it useful?
Options :

1. ¥ ROM information can be easily updated.

2. ® ROM provides very large amounts of inexpensive data storage.



3. ¥ Data in ROM is non-volatile, that is, it remains there even without electrical power.

4. % ROM chips are easily swapped between different brands of computers.

Question Number : 2 Question Id : 2549896917 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Jde-3Miett AFRY (ROM) &t f3m1 & & ol Y fasiwar 3¢ Iuahtt s=rdt 82
Options :

1. ¥ ROM chl STHRIHLM ohl T & TS fhaT ST dehdl &

2. # ROM Tt ST WRST i Igd TSI ATAT U Hedl &

3. ¥ ROM # 21 Afalcierset gidT g, 3rid, Ug gaifaees Urear & fam oft agi wgar &
4. % ROM g srmart 9 fafera sigy o dged o sftw @y gt SIrdl 8

Question Number : 3 Question Id : 2549896935 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One TB storage capacity isequalto_____ MB.
Options:

1. % 10241

2. 10242

3. % 10243

4. % 10244

Question Number : 3 Question Id : 2549896935 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

qe &t SR e gl & e @i B
Options:

1. % 10241

2. ¢ 10242

3. % 10243

4. % 10244

Question Number : 4 Question Id : 2549897536 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the key combination to delete text to the end of the sentence in an OpenOffice writer?
Options:

1. % Ctrl + Del



2. % Ctrl + Shift + Del
3. # Shift + Del
4. % Tab + Del

Question Number : 4 Question Id : 2549897536 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

U SHTth AZeR (OpenOffice writer) H, fhelt areRy & 3id T aRe ol fSefie A & forg fohg dl-aie
RiTEehe T IuANT foharm STTaT 872

Options :

1. % Ctrl + Del

2. ¥ Ctrl + Shift + Del

3. # Shift + Del

4. % Tab + Del

Question Number : 5 Question Id : 2549897591 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
DVD stands for _____.

Options:

1. # Digital Vertical Disc

2. ¥ Digital Versatile Disc

3. # Data Varying Disc

4. % Digital Vertical Data

Question Number : 5 Question Id : 2549897591 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

DVD &1 quiey &7 8?2

Options:

1. # Digital Vertical Disc (f&fSieat aféae fe<n)
2. ¢ Digital Versatile Disc (f8fSicet adferga fewn)
3. ® Data Varying Disc (3T <151 f&@)

4. % Digital vertical Data (féfSieet aféaa Sa)

Question Number : 6 Question Id : 2549898471 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which function converts an octal number to hexadecimal in MS-Excel 2019?



Options :

1. # O2H function

2. % OCT2HEX function

3. % OCTTOHEXD function
4. % OCT2HEXD function

Question Number : 6 Question Id : 2549898471 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 #, =T 9T therH fohet Sifereet et st g famet # uRafdd s=dr 82
Options :

1. % O2H HharH

2. ¥ OCT2HEX Hha_H=

3. ¥ OCTTOHEXD ther=

4. % OCT2HEXD ther=

Question Number : 7 Question Id : 2549898813 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A ____ isastationary pointing device with a ball mechanism on its top.
Options:

1. ¢ trackball

2. ¥ mouse

3. ¥ touchpad

4. % touchscreen

Question Number : 7 Question Id : 2549898813 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

____ o R uidfdn farsy @ g it wR gen aifet geh & gtar 81
Options:

1. ¢ Sl

2. % A9

3. % zade

4, % I &hA

Question Number : 8 Question Id : 2549899354 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Which type of computer peripheral is dot-matrix, deskjet, inkjet and laser?
Options :

1. ¥ Keyboard

2. % Software

3. * Monitor

4. % Printer

Question Number : 8 Question Id : 2549899354 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Sle-Af¢ay, Seehvte, dhaie R Aok fAF 7 & fohd TR & dhger dtheed &7
Options :

1. ® HI-aS

2. ® Fioed®R

3. ¥ #AfAe

4. ¢ iR

Question Number : 9 Question Id : 25498912047 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is the most basic and comprehensive backup method, where all data is
sent to another location?

Options:
1. # Restoration
2. % Incremental
3. # Differential
4.« Full

Question Number : 9 Question Id : 25498912047 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

frfofEa # & sl O gad gfAardt ok e srery fafe 8, STgl arT Se7 gER Wi WR | ST1dT 8?2
Options:

1. % JdwRH

2. % ZchiHed

3. ® femfAga

4. gt



Question Number : 10 Question Id : 25498922522 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Optimizing the drives helps to run the PC smoother and boot up faster. Which of the following
options is used to open the Optimize drives in Windows 10?

Options :

1. % Click the Search bar on the taskbar and enter defrag & select Defragment and Optimise
Drives.

2. % (Click the Start menu on the taskbar and enter administrative tools.
3. # (Click the Search bar on the taskbar and enter Control Panel.

4. # Click the Search bar on the taskbar and enter Windows system.

Question Number : 10 Question Id : 25498922522 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

S139 ohl HICHTSST ¥ & PC ol I U T Tl 3R dSft ¥ ¢ e H# Fgraar fAerd! 81 Windows 10 #,
JREATSS g15d &l WieH o oy 71 7 ¥ forg fasen a1 o forar Srar 82

Options:

1. ¢ TREhER oh T IR UR feReTen e 3R SIthT &5 ahe 3R fthe "Sithire 3iR SiffeeATss grga” |
2. ¥ THER oh WIE A< R foeten e 3R gefafAediea god der i

3. % TR o Td IR TR foeteh e 3R chelel OFet e el

4. ¥ THIR & T4 TR IR ffetep a2 3R fdeier e ver &

Question Number : 11 Question Id : 25498929852 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The black and white elements of a barcode is scanned by illumination of the code with the
, Which is then converted into matching text.

Options:

1. # yellow light
2. % green light
3. ¥ red light

4. % blue light

Question Number : 11 Question Id : 25498929852 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

RIS h hlet 3R Gthe, 1adal i ZRT 1€ oh S O The fohart Sirar 8, 919 g & afdm dae &
e fear ST 8l



Options :

1. ¥ diet U1
2. % U
3. ¢ |1 TRl
4. % et gaprr

Question Number : 12 Question Id : 25498930069 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following devices scans a particular document by recognising its individual
characters and converting it into editable form?

Options:

1. # Optical Mark Reader

2. ¥ Optical Character Recognition

3. ¥ Magnetic Ink Character Recognition
4, % Bar Code Reader

Question Number : 12 Question Id : 25498930069 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fAfafRea & 9 o9 9t [Sarsy fohet faiy Siagrc o STeT-31elT gulf at ggaar 3R I gfefdn g wu &
I&eTehy ThT il 872

Options:

1. ¥ 3ifftechal A1eh X (Optical Mark Reader)

2. ¢ Jiffechal higex RapfAH (Optical Character Recognition)

3. % AMfee 3o dheaex RapfsE (Magnetic Ink Character Recognition)
4. % gRate deX (Bar Code Reader)

Question Number : 13 Question Id : 25498930890 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following plotter draw on negatively charged paper with positively charged toner?
Options:

1. % Drum

2. * Flatbed

3. ¢ Electrostatic

4. # Inkjet



Question Number : 13 Question Id : 25498930890 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAfafEaa & @ & 91 wilex gt JMafd SR & 1Y KoTcHe JMAfId ARt 0R & §=7dT1 82
Options:

1. % gHq

2. % qdeds

3. ¥ seiagiefean

4, % depoic

Question Number : 14 Question Id : 25498930923 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following devices consists of one or more buttons and a stick to control the
movement of the cursor on the screen by pointing in all directions?

Options:

1. ¥ Mouse
2. % Keyboard
3. ¥ Joystick
4. # Light pen

Question Number : 14 Question Id : 25498930923 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAfeifed 7 & forg Suehor & gt feemstt 7 3fd e ThiF IR ek & Hae ot Fifd e & g g an
31feeh Fe 3R Yo e gidt 872

Options :

1. % A9

2. % FHl-are

3. ¢ Siigfkees
4. % A8 U

Question Number : 15 Question Id : 25498931004 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the function of the printer spooler in Windows 10?

Options :

1. # To specify the parameters of the print job that are waiting to process to OS.

2. # To manage the message sent from the printer to the operating system when a print job is



completed.
3. ¥ To manage the printing jobs sent from a computer to a printer or print server.

4. % To queue the print job that are waiting to print.

Question Number : 15 Question Id : 25498931004 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Windows 10 #, fiiex TeRR &1 o1 i 872

Options:

1. ¥ e ord & WRHieR [AfCE o & forg STt OS ur daifad g4 <l udier o 36 8|
2. % fiic o 1 g1 WR iR & ATRfET ffked st 99t 71Q Hear ot gaiferd & & fag
3. ¢ YR ¥ flier a1 flie gk iR st 71g fUfd i st geifdrd e & fergl

4, % fiic g & forg Ucdter e 38 Haur & @l shdR # &7 o frg

Question Number : 16 Question Id : 2549898921 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

An ethernet address is made up of how many bytes?
Options:

1.% 3

2. % 4

3.%5

4.9 6

Question Number : 16 Question Id : 2549898921 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Qeh $2RAC g fohat a13¢H T 91 glar 8?2
Options:

1.% 3

2. % 4

3.%5

4. ¥ 6

Question Number : 17 Question Id : 2549899542 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following is not a reason to print to a File?
Options:



1. # To be able to print a document at a later time without having to open it in the software
that originally created the file.

2. # To save a document to a PDF file that can be used or printed on a computer which does
not support the software program used to create the document.

3. # To email a file to another person to print that does not have the software program used
to create the file.

4. ¥ To delete a file so that to print a document at a later time.

Question Number : 17 Question Id : 2549899542 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAfafRea & 9 a9 91 wised WR flie o &1 dRoT T8l 872

Options:

1. % fordll TEdTaST ol HoT U ¥ TS S dTet AR | @iet fo1 I8 a1 # flie ae 7 Ferd g

2. # foheft aZardt ot Uoh UISIUh Whisdl & Tgoi o folg fogent SuaiiT shegex WR fohar ST Tenar & ar gfed fahar
STT GehdT & STt &&dTaST g9 oh ol ITAHT fohT ST et GioedaR I ahT 90 a1 ahedT &1

3. ¥ fohelt thrget ot flie e o g forddt s aaf<h ot S oheeT fSich UTd Whisel o o forg ST fohar
ST aTelT QIR W T8l 8l
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Question Number : 18 Question Id : 25498910938 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following printers does NOT require ink, toner and other supplies?
Options :

1. # Laser jet printer only

2. # Inkjet printer only

3. ¥ Thermal printer

4. % both Inkjet printer and Laser printer

Question Number : 18 Question Id : 25498910938 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fr=fafad & @ en-3 fiier ot @rgl, TR SR 3= SYfe <l Srrar=geh =&l gidl 872
Options :

1. ¥ AR e iR

2. ® Farole iR

3. ¢ gdd iR

4. % Fahoie fiieR 3R ofor iR



Question Number : 19 Question Id : 25498911142 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is the amount of amplification for the speakers?
Options :

1. ¥ Watts

2. % Frequency response

3. #® Total harmonic distortion

4. % Frequency input

Question Number : 19 Question Id : 25498911142 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fAfafea & 9 @i & forg vada & 7 o g2
Options :

1. ¥ areg

2. % thieadt Reaig

3. % Zied g SR

4, % thieadl 3Ye

Question Number : 20 Question Id : 25498911279 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is used to connect to a computer to generate sound, which is, one of
the most common output devices?

Options:

1. ¢ Speaker

2. % Printer

3. # Microphone
4. # Plotter

Question Number : 20 Question Id : 25498911279 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

&l IUF A & I YR & Sae A & forg Fmfafaa 7 @ fohgen Iuahr fovar srar 8, 5t fos aed e
3T3cye fearsa & T Uah 82

Options:

1. ¢ W




2. % fijez
3. ¥ HEhIhIA

v

4, # e

Question Number : 21 Question Id : 25498913429 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following options gives correct sequence to Compressing a File in Windows OS?

A. Right-click on the file.

B. Select 'Send To' from the menu that appears

C. Browse to find the file you wish to compress

D. Select Compressed (zipped) folder from the list of options to create a compressed folder

Options:

1. % AB,C,D
2. % ACB,D
3. % AB,D,C
4. ¥ CABD

Question Number : 21 Question Id : 25498913429 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fAafafaa & @ o ar faeey fdeist situg & fondt wiser ot Ihfed et o1 98t oy 2ar 82

A. HI3d IR 3e-faeTen &l

B. f&wams &7 aret A ¥ "9 ¢ T 98 e

D. THiifEd hiver M & foiy frered] &1 gt & Gfifed (i) tivex & = &
Options :

1. % AB,CD

2. % ACB,D

3. % AB,D,C

4, % CA,B,D

Question Number : 22 Question Id : 25498913859 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Data Encryption Standard (DES), due to , @ small change in plain text results in a very
great change in the ciphertext.

Options:



1. # Iris effect
2. * Gabber effect
3. ¥ Avalanche effect

4. % Newton effect

Question Number : 22 Question Id : 25498913859 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ST QR WUSE (DES) H, & hRRUT Wi ¢oRe H BleT 91 dadld [AthedaRe H Jgd o181 R rdT g
Options:

1. # 3meRy ghae

2. ¥ eR gthee

3. ¢ UgdT Sthae

4, % Y 3hee

Question Number : 23 Question Id : 25498918566 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
IAB stands for

Options :

1. # Internet Act Board

2. # Internet Archives Board

3. ¥ Internet Architecture Board

4. % Internet Act Band

Question Number : 23 Question Id : 25498918566 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

IAB o1 guf U 1 872

Options :

1. % Internet Act Board (3237 Tae dt8)

2. % Internet Archives Board (3¢3¢ 3fTehiges d1s)

3. # Internet Architecture Board (3e37c 3ffchea=R 1)

4. % Internet Act Band (e3¢ Tae §€)

Question Number : 24 Question Id : 25498920753 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



MIME stands for

Options:

1. ¢ Multipurpose Internet Mail Extensions
2. ® Multipurpose Internet Mail Email

3. # Multipurpose International Mail Entity

4. ®# Multipurpose International Mail End

Question Number : 24 Question Id : 25498920753 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

MIME &1 guf &4 a1 8?2

Options:

1. ¢ Multipurpose Internet Mail Extensions (Ae¢iut¥ §e-c Hel TawesH)
2. % Multipurpose Internet Mail Email (Aediqug $eAc A 37d)

3. % Multipurpose International Mail Entity (AeEiqu¥ $exAMel et Uleel)

4. % Multipurpose International Mail End (AeEIut¥ §exMel Adl U8)

Question Number : 25 Question Id : 25498924310 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Unix, which command is used to find the resource limits of the session?
Options :

1. % ulimit

2. # getrlimit

3. # rlimit

4. % setrlimit

Question Number : 25 Question Id : 25498924310 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

g | fohg A= a1 IUTNT W2 i RE foifie trgs &t o forg fohar sirar 82
Options :

1. ¢ ulimit

2. # getrlimit

3. # rlimit

4. % setrlimit

Question Number : 26 Question Id : 25498924519 Question Type : MCQ Option Shuffling :



Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ___ file format is used for a comma separated value file.
Options:

1.9 .csv

2. % s

3. % f

4, % ccf

Question Number : 26 Question Id : 25498924519 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SR TRISE thitic T ST IAT YURLE Ieg, thigel oh folq T STt 872
Options:

1.9 .csv

2. % s

3. % f

4, % ccf

Question Number : 27 Question Id : 25498924605 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What is the file format of a system file?
Options:

1. % SF

2. % SAF

3. % CBA

4. ¥ CAB

Question Number : 27 Question Id : 25498924605 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fOcH T3t T ThIgeT thide T gidT 872
Options:

1. % SF

2. * SAF

3. % CBA

4. ¥ CAB



Question Number : 28 Question Id : 25498925174 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Some image file formats such as PNG or BMP use
Options:

1. # defragmenting algorithm

2. ¥ |lossless data compression algorithm

3. #* lossy data compression algorithm

4. % fragmenting algorithm

Question Number : 28 Question Id : 25498925174 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

$O S WIS hive, 39 foh PNG Srqar BMP __ o7 IUINT & & |
Options:

1. % SithfET genien

2. ¢ AT STl iR TTRed

3. # qrdt ST wEieE TemiRed

4, % ShfE gemien

Question Number : 29 Question Id : 25498938509 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is a completely new installation of an operating system or application
on a computer?

Options :

1. ¥ A clean installation

2. # A headless installation

3. #* An unattended installation

4. * Asilent installation

Question Number : 29 Question Id : 25498938509 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAfafea & @ s 91 hger wR it Rwed a1 uftereher 6t g avg & 3 WA 8?2
Options :

1. ¥ Ueh 9Tth 311 (A clean installation)

2. % Uk gsaig 3k (A headless installation)

3. # U 3F3esS 3=l (An unattended installation)



4. % grga=< 310 (A silent installation)

Question Number : 30 Question Id : 25498940418 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

When is acceptance testing performed in Agile development?
Options:

1. # Daily

2. % On request of customer

3. #® After system is ready

4. ¢ At the end of each sprint

Question Number : 30 Question Id : 25498940418 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ToIgd SaauAe (Agile development) & Tiiepfd URI&ToT she fohaT STTaT 872
Options:

1. % AT

2. % gk & IRY W

3. % ReH JUREF & 9%

4. vl e & o &

Question Number : 31 Question Id : 2549896772 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following does NOT belong to the category of microcomputers?
Options:

1. # Desktop computers

2. ¥ Cray-1

3. #® Palmtop computers

4. % Workstations

Question Number : 31 Question Id : 2549896772 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fAffad # @ el 41 ATgeht hger 6 Yoft @ Fefdd =81 82
Options:

1. % SThIY g



2. ¥ h-1
3. ® gAC & QQEF‘
4, ¥ ghEg

Question Number : 32 Question Id : 2549899067 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Electronic Data Interchange is necessaryin
Options:

1. % B2C e-Commerce

2. % C2Ce-Commerce

3. ¥ B2B e-Commerce

4. * manual transaction

Question Number : 32 Question Id : 2549899067 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Felaei-ch Sl geal T 3fgygeh gidar g
Options:

1. % B2C -

2. % C2C -pind

3. ¥ B2B §-Hd

4. % gEImfard aF-a

Question Number : 33 Question Id : 2549899143 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What does the abbreviation 'WWW' stands for?
Options:

1. ® World With Web

2. % Wide Wide Web

3. * World Width Web

4. ¥ World Wide Web

Question Number : 33 Question Id : 2549899143 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
WWW T QUiREY T 872



Options :

1. % World With Web (a<s fayg d«)

2. % Wide Wide Web (a13€ a138 d¥)
3. ¥ World Width Web (a<s fagy 39)
4.+ World Wide Web (a<s arss d4)

Question Number : 34 Question Id : 25498911069 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is scalable font?

Options:

1. ¥ A font that can increase in size without causing any degradation in the quality.
2. # Itis a font with different characters and different pitches.

3. # Itis an outline of each character which are geometrically defined.

4. % Itis an object-oriented graphics language such as PostScript.

Question Number : 34 Question Id : 25498911069 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Thelael thi=E T 8?

Options:

1. ¢ ek Whi~e ST T[0T H hig RTae A1Y foAT SRR & S TohT 81
2. * foferz o= o gy fafera quif & wie

3. ¥ yddes guf &l Yah TuRET, o1 sarfadta ®u & gy forar mar 8
4. % Qe STeoier I~HG UTitherd 9TWT, SiY foh Uieefehe

Question Number : 35 Question Id : 25498911902 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Keyboard shortcut, F1 in MS-Excel 2019
Options:

1. ¢ displays the Excel Help task pane.

2. # pastes a name from the Paste Name dialog box (if names have been defined in the
workbook).

3. ¥ creates a chart of the data in the current range in a separate Chart sheet.

4. # cycles through all combinations of absolute and relative references in a formula if a cell
reference or range is selected.



Question Number : 35 Question Id : 25498911902 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 # FielS iféene, F1 |

Options:

1. + Tl ged <R U Uelfd axdr g

2. ¥ UK A4 SN died 9§ 9 U ohdT ¢ (Ife A1 shrigident # gRHIYT fohg 7g §)
3. % gep 3reT TTe Rfte & adum goft § Se1 &1 Tk I I @

4. % Ieh oh ATHH G G GYISHI o Sreqiqe 3R Retfed deof & ger T # afe Tt Ao a1 ot a1 =g+ fohar
ST 8

Question Number : 36 Question Id : 25498911948 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

To insert a picture in a columnar section, click the tab and click Picture in the Illustrations
group in MS-Word 2019.

Options:

1. % Insert

2. * Page Layout
3. ¥ Home

4. % Design

Question Number : 36 Question Id : 25498911948 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 H shiqA-IR daH H Goh AT gae et &h folg, 39 WR foeteh e 3fR gerige= qu A o
R feReteh e

Options:

1. 34é

2. % O A3

3. % gm

4. % fSaimsa

Question Number : 37 Question Id : 25498924648 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a portable computer?
Options:

1. # Laptop



2. % PDAs
3. ¢ Desktop
4. % Tablet

Question Number : 37 Question Id : 25498924648 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
P & @ i 1 U et SR 8 &2
Options:

1. ¥ Queia

2. % PDAs

3. ¢/ &Rl

4, % gele

Question Number : 38 Question Id : 25498924653 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
PDP-11 is an example of

Options:

1. % minicomputers

2. % microcomputers

3. ¥ supercomputers

4. % mainframe computers

Question Number : 38 Question Id : 25498924653 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
PDP-11, I Teh IGTE 0T B
Options:

1. v el dhgex

2. % TT3hl R

3. ¥ gRIIR

4. ¥ BThH HER

Question Number : 39 Question Id : 25498924663 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following keyboard shortcuts is used to 'Align Right' the text in Microsoft Word



20197
Options:

1. % Ctrl + L
2. % Ctrl+E
3.¥ Ctrl + R
4, % Ctrl+ A

Question Number : 39 Question Id : 25498924663 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Microsoft Word 2019 #, ¢eRe & '&1d €@ (Align Right)' & foig Iuah fohar ST a1elt Ues hi-a1S e
AT 872

Options:

1. % Ctrl+ L

2. % Ctrl+E

3.¥ Ctrl +R

4. % Ctrl + A

Question Number : 40 Question Id : 25498924672 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following shortcuts will you use to open the Margin dialog box in Microsoft Word
2019?

Options :

1. % Alt+P+S
2.¥ Alt+P+M
3. % Alt+P+N
4, ®# Alt+P

Question Number : 40 Question Id : 25498924672 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Microsoft Word 2019 #, #1fSiq S« sfag @t & fow Fafafea o @ forg hr-a1S iidene &t SuahT
forar STTaT 82

Options:

1. % Alt+P+S
2.9 Alt+P+M
3. % Alt+P+N
4. % Alt+P




Question Number : 41 Question Id : 25498925215 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following are connected to the Backbones i.e., fiber optic trunk lines at Network
Access Points with high speed lines in internet Architecture?

Options :

1. ¥ Internet Service Providers
2. % Domain Name Server

3. # Social networks

4. % News groups

Question Number : 41 Question Id : 25498925215 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAfafEa & @ s See snfdhdeer # g @ie argHl & a1y Acach Yoy UiEcy WR Sehal a1 higsR
e eh g1 d JST 672

Options:

1. ¢ $ee 9fdd diarssd

2. % ST A9 IR

3. % I AT

4. % g

Question Number : 42 Question Id : 25498925284 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In star topology, all devices connected to a central device by
Options:

1. * Hub only

2. % Switch only

3. * Router

4. ¥ Hub or Switch

Question Number : 42 Question Id : 25498925284 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

WR utcret #, @9t feasd g1 ue el fearsa @ S8 8 &
Options:

1. % dhad gd



2. % dhad g
3. ¥ WX
4, ga g1 feag

Question Number : 43 Question Id : 25498938397 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
URL normalisation is performed by the:
Options:

1. ¥ Web crawler

2. % Web site

3. ® servers

4. * clients

Question Number : 43 Question Id : 25498938397 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
gARYA (URL) SHTRIROT 380 gRT fohart ST &:
Options:

1. ¢ 39 shieR

2. % dq 915

3. ¥ geR

4. % IS

Question Number : 44 Question Id : 25498941577 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The decimal equivalent of binary number 010is ____
Options:

1.9 2

2. %1

3.% 4

4. % 6

Question Number : 44 Question Id : 25498941577 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
TSR AT 010 ohT SHTTT AT RIT gRIT?




Options :
1.9 2
2. %1
3.% 4
4. % 6

Question Number : 45 Question Id : 25498941581 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The correct syntax for the SUM function in Microsoft Excel is
Options:

1. % =SUM(C1.C2.C3)

2. # SUM(C1,C2,C3)

3. % SUM(C1+C2+C3)

4. ¥ =SUM(C1+C2+C3)

Question Number : 45 Question Id : 25498941581 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Microsoft Excel &, SUM thas™ & forg Tat f&ida @ g?
Options:

1. % =SUM(C1.C2.C3)

2. % SUM(C1,C2,C3)

3. ¥ SUM(C1+C2+C3)

4, ¥ =SUM(C1+C2+C3)

Question Number : 46 Question Id : 25498941595 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following functions makes Microsoft Excel search for a certain value in a column
(the so-called 'table array'), in order to return a value from a different column in the same row?

Options:

1. % COUNT
2. # SUMIF

3. ¥ VLOOKUP
4, % MAX

Question Number : 46 Question Id : 25498941595 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

fAfeifed & @ @l= a1 thar™ Microsoft Excel & Teh shieid (TUTenfdd "o R') & Top [ deg ot 9
T &, dlfch I Ufch H Yok 3Tl hied & Teh deg bl e foham ST gen?

Options :

1. % COUNT
2. % SUMIF

3. ¥ VLOOKUP
4. % MAX

Question Number : 47 Question Id : 25498941601 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Microsoft Excel 2019, use key on your keyboard to switch between relative, absolute,
and mixed cell references.

Options:
1. % F1
2. % F2
3. % F3
4. ¥ F4

Question Number : 47 Question Id : 25498941601 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Microsoft Excel 2019 #, Reifeq, srstiqqe iR AR A devf d Mo f@a wA d g e
it AT IUTNT 1|
Options:

1. % F1

2. % F2

3. % F3

4. F4

Question Number : 48 Question Id : 25498941606 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Microsoft Excel 2019, the Customize Ribbon option that helps create a macro is present in
the tab.

Options:
1. # Insert
2. % File



3. # Design
4. ¥ Developer

Question Number : 48 Question Id : 25498941606 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Microsoft Excel 2019 #, #sht fohue & # Hgrae shteags RaA Ay 9 A HiSE gt 8|
Options :

1. % 3¢

2. % TpIgdd

3. ® fSSmgA

4, ¥ STAR

Question Number : 49 Question Id : 25498941622 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Microsoft Excel, to quickly autofit all columns in a worksheet, you must click the
button and then double-click any boundary between two column headings.

Options:

1. ¥ Select All
2. % Clear All

3. # Delete All
4. # Undo

Question Number : 49 Question Id : 25498941622 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Microsoft Excel #, foreft achsfte & G+t it at gia sifelfthe ot & folg, muepl _ §ed W foeTen o
g 37k fiiR &Y i Bfer & afiT fohlt off ISt R Saa-faeta aeam ghml

Options:

1. ¢ Tatare 3ifa (Select All)
2. # faerR 3t (Clear All)

3. # f3cfie sifeT (Delete All)

4. % 3r7g (Undo)

Question Number : 50 Question Id : 25498941626 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The ASCII value of ‘B’ is



Options :
1. ¥ 66
2. % 97
3. % 32
4. % 65

Question Number : 50 Question Id : 25498941626 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘B’ AT ASCII /1< T 8?2

Options :

1. ¥ 66

2. % 97

3.% 32

4, % 65

Question Number : 51 Question Id : 25498941647 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Microsoft Excel, a pivot table is used to
Options:

1. #* record a sequence of steps

2. % repeat a sequence of steps

3. ¥ summarise data in a table

4. % test data in a table

Question Number : 51 Question Id : 25498941647 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Microsoft Excel &, fUdic dqa spr 3wt < forw fopar Sirar 81
Options:

1. % IROT T ohH ReplS hert

2. % TRUTf AT ShH ST

3. « 321 &l Uah difeiepl & & e

4. % foret drfercht & ST T URIeTuT hed

Question Number : 52 Question Id : 25498941651 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
The binary equivalent of decimal 9 is
Options :

1.% 111

2. % 1001

3.% 1111

4. % 10001

Question Number : 52 Question Id : 25498941651 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
TR AT 9 e STSR) FATT T §RIT?
Options :

1.% 111

2.+ 1001

3.% 1111

4. % 10001

READING COMPREHENSION

Section Id : 2549898431
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted: 1

Section Marks : 5

Display Number Panel : Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 2549898472
Question Shuffling Allowed : No

Question Id : 25498921289 Question Type : COMPREHENSION Sub Question Shuffling
Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)

Read the given passage and answer the questions.

From my Uncle Podger's house to the railway station it was an eight minutes’ walk. What he
always did was start five minutes before the time and run.



Many fat gentlemen lived at Ealing and caught this train to Town. They all started late ; they all
carried a black bag and a newspaper in one hand and an umbrella in the other; and for the last
quarter of a mile to the station they all ran. People with nothing else to do gathered in the
street on fine mornings to watch them pass and shout encouragement to them. They did not
run well, they did not run fast; but they tried their hardest.

My uncle always got up early enough, but troubles seemed to come to him at the last moment.
The first thing he did after breakfast was lose his newspaper. Whenever he lost anything, my
uncle did not say to himself, “I am a careless old man. I lose everything. I can never find it
again for myself.” No; he always blamed everybody except himself.

“T had it in my hand a moment ago!” he would cry. “Perhaps you left it in the garden,” my aunt
would suggest.

“Why should I leave it in the garden? I don't want a paper in the garden. I want it in the train
with me.” “Have you put it into your pocket?” “Do you think I should be standing here looking
foritif I had it in my pocket? Do you think I am a fool?”

Then somebody would hand him over a folded newspaper from somewhere. “I do wish people
would leave my things alone,” he would say taking the paper angrily. He would open his bag to
putitin, and then taking a quick look at it, he would pause, speechless. “It's yesterday’s paper!”
he would shout, throwing it down on the table.

We found the right one for him at last; very often he was sitting on it.

Sub questions

Question Number : 53 Question Id : 25498921290 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In this passage, the narrator is describing__ anecdote.
Options :

1. ¢ a funny

2. * anirritating

3. # asilly

4. * an emotional

Question Number : 54 Question Id : 25498921291 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Why did the gentlemen run in the morning?

Options:

1. # They exercised every morning by running.

2. * They ran to compete with each other.

3. # They wanted people to cheer them when they ran.
4. ¥ They ran to catch a train in time.



Question Number : 55 Question Id : 25498921292 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main purpose of the people gathering in the morning was to the gentlemen
running.

Options :
1. * taunt
2. ¥ buck up
3. #* laugh at
4. * help

Question Number : 56 Question Id : 25498921293 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Generally, what did Uncle Podger do with the newspaper?
Options:

1. # He left it in the garden.

2. % He putitin his pocket.

3. ¥ Hesatonit.

4. # He put itin his bag.

Question Number : 57 Question Id : 25498921294 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

“The first thing he did after breakfast was lose his newspaper.” This shows that Uncle Podger
was:

Options :

1. % funny

2. ¥ absent minded
3. * irritating

4. # helpless

Question Id : 25498921289 Question Type : COMPREHENSION Sub Question Shuffling
Allowed : Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)
e T eI @t U SR 3Tk SMYUR WR UKl & IR 2|

TR T UTSSR &h TR G ¥eTd WA 1S fA-e T daet gt IR 11 d gHT 99T ¥ Ui A Ugdt 81 32 ahid gU
ST [ R ad Tl



h3 A Tooi 3ol A TEd & 3R 2134 & oI 39 37 ol Uhed &1 3 T &R T [ hxd &; 3 9+t Tap g1U A T
RIAT AT 3R Yeh HER U5 3@ &, 3R R 81U # B<); 3R WM & folg Tep Hier i anfedt e g & forg
3 gt W R A1 f9T AN & UTH hlS R A1 BT 3 g ISR 376 Sld §U o & oIy T8k IR gohgl gid o
3R I MfRd A & T Smarst a1 & et aRg T UTT gl uTd &, & ST 91T A1g! uTa &; Ak 36iA
3TTES ThIfRART h |

TR T gHRT STeg! I5d o, wfche Ieh! gRenfAar st uer & dar gidt off | A1 & a1g IR T8 uger s
3 GHTIR U ehl T BIT ATI ST Ht o @t &, #R =11 g d Tg Aol shed foh, "H Ten AITURaATE @
JeH §1 & 99 3o @ a1 1 T & 38 3 ¥ ¢ oY 781 Topar " T&l; 3 gARI 31U+ Srerar 9+t &l aiet sgerd |

"3 o R Ugd Tg R BTy H U1l I8 A, "I JHA 34 S A ol Gz g, A =m=h g3 dft g
39 il | Rl Ster T1fgQ? g3t Fiitd J SReeR g] a1feq| & 38 31U |1 ¢4 # argdr g1”

"SRIT JATIA 8 ST S H 7@ o 82" “am 3ideh! e g foh oPR ag w- St A glan dt g3t 39 I8l @l gl
G ATBY? T Jre e ¢ foh A g g2

dt hgl & <hls I Teh HST 37T @SR YHT &1l "H A1gdT g foh @l A IS 3rehed B &," 8 T H 3@aR
Ad §U ShedT| 98 I8 @ o folg ST o7 @ierdT 3R fhe I8 TR Teh ISR STeld g 3dTeh 38 STTdT| “Tg el ol
a1 e o1 SREER g!1” g8 I AST R theh o FRIeaTaT|

JTERBR g Te! dTet hl ¢& foldT; SRR 98 I TR 93 ST hed I

Sub questions

Question Number : 53 Question Id : 25498921290 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

3 TR T, FAUTPR Ueh __ IURAT ol g0 & T 8
Options :

1. ¢ HaTfeRan

2. % Jeholltheg

3. % Fdaryof

4, ® EHTHD

Question Number : 54 Question Id : 25498921291 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
GooT- g il HI?

Options :

1. ® 3 IS Yog g A ahd o

2. % 3 U R & 1Y ufeayf s o forg Wit
3. ¥ 3 91gd o foh v dted 99T 3 Uidiiad &l



4. ¥ 3 Y IR Uh ¢ Uha- o felq 9|

Question Number : 55 Question Id : 25498921292 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

AT o GaE Uohd 814 ol BRUTGred @il __ ol
Options:

1. % IUg™

2. ¢ ol Uicrfed AT

3. ¥ WREG

4. % Y GErar hAl

Question Number : 56 Question Id : 25498921293 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

3T R WR 3ichel UIGeR A @R & 1Y 7 fhar?
Options:

1. ¥ 35 38 i 7 sl

2. ¥ IgI 38 37Ul sig F @

3. ¢ 9§ I R &3 7T

4, % Igi 39 U= T H @7

Question Number : 57 Question Id : 25498921294 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A1 S ST IIhT UGl hiH U= FATIR U bl @IHT UT1' 399 UdT Ieidl & fh Iramaiger 9
Options:
1. ¥ #oleR
2. ¥ qAFhg
3. * fIsfas
4. % TSR
QUANTITATIVE APTITUDE
Section Id : 2549898432
Section Number : 3
Section type : Online

Mandatory or Optional :

Mandatory



Number of Questions : 6
Number of Questions to be attempted: 6

Section Marks : 6

Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898473
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498928851 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What approximate value should come in place of the question mark (?) in the following question?
(You are not expected to calculate the exact value.)

389+ (2.6x69) =7

Options:

1.9 22

2. % 17

3. % 28

4, % 12

Question Number : 58 Question Id : 25498928851 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ferfof@n wer # W e () & T W 3RS A A g AMEe? (o FEF A A
TR G 2
389 + (26 x 6.9) = ?

Options:
1.v 22

5 % 17
3 % 28

4 % 12

Question Number : 59 Question Id : 25498928863 Question Type : MCQ Option Shuffling :



Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
What will come in place of question mark (?) in the following number series?

7, 20, 46, 98, 202, (?)
Options:
1. % 420
2.¥ 410
3. % 310
4. % 320

Question Number : 59 Question Id : 25498928863 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
faeredt & & eonter &t Tweam e e Sjaen # usfag (?) o I WR 31 Gead! 872

7, 20, 46, 98, 202, (?)
Options:
1. % 420
2.¥ 410
3. % 310
4. % 320

Question Number : 60 Question Id : 25498928932 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What value should come in place of the question mark (?) in the following question?
15 X78+-05=1

Options:
1. % 238
2.9 234
3. % 243
4. % 216

Question Number : 60 Question Id : 25498928932 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Frafaf@a vea & 9o REa (?) & T 9T FAT ATF HT?
1.5x78=05=7




Options :
1 % 238

5 v 234
3 % 243

4 % 216

Question Number : 61 Question Id : 25498929111 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In a class of 30 students, there are 17 girls and 13 boys. The average age of the boys is 10
years. If the average age of the whole class is 12 years, then what is the average age of the
girls?

Options:

1. % 12.72 years

2. % 12.92 years

3. ® 13.12 years

4. ¥ 13.52 years

Question Number : 61 Question Id : 25498929111 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

30 focafdat & e 7, 17 w5 A 13 w5 ¢ a5 & g g 0 W g A A H
Hea o 12 38 ¢ & oot &Y sfed o w2

Options:
1% 12.72 ag

> % 12.92 a¥
3 % 13.12 a§

4« 1352 T



Question Number : 62 Question Id : 25498929427 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the sum of the first 7 terms of an arithmetic progression is 63 and the sum of its next 7
terms is 161, then the 14th term of the progression is:

Options:
1. % 26
2.¥ 29
3. % 39
4. % 42

Question Number : 62 Question Id : 25498929427 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

gfe forelt Sienmiordiia Sioft & uget 7 ual o1 317 63 € 3R ITh 3FTet 7 Ual et a1 1671 8, ot IIfd e 1447 Ue &
Options:

1 % 26

2.« 29

3 % 39

4 % 42

Question Number : 63 Question Id : 25498929430 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If the mean of the given distribution is 9, then p is a solution of the equation:

xi [4] 6 ] 9 ] 10 15
filslwo[10] p ] p+1

Options:

1.Jx2—4x—21=[]

5 % X°—4x+28=0

3 % XX +4x+21=0



4 e XX +4x—21=0

Question Number : 63 Question Id : 25498929430 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

afe e faavur &1 #re 9 &, Y p o= A O fovg waliaon 1 gt glem?

xi|4[6 [9 J10]1
fils|10]10]p [p+1

h

Options:
1. x2—4x—21=0

2 % x*—4x+28=0
3 % x2+4x+21=0

4 % xX2+4x—21=0
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Question Number : 64 Question Id : 25498910062 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Among the following words, which one will come second if they are arranged as per their
order in an English dictionary?

Options:

1. #* Fraudulent
2. * Fraught

3. ¢ Fraternity

4. % Franchise

Question Number : 64 Question Id : 25498910062 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

IR g 3 M &) afe goft erect Bt Uek Lreaaniar & SIER quifaers # saafedd fakar Srar &, dt gER WiF W)
ST T ST ITATT?

Options:

1. #* Fraudulent
2. % Fraught
3. ¢ Fraternity

4. * Franchise

Question Number : 65 Question Id : 25498910153 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third word in the same way as the second word is
related to the first word.

Igloos : Canada :: Rondavels : ?
Options :

1. ¢ Africa

2. % Rangoon

3. * Russia

4. % Indonesia

Question Number : 65 Question Id : 25498910153 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
39 fAehct &1 98 e St IR g @ I UehR Heifdd 8 S GERT 21eg Uget 2Teg ¥ Haifdd &1

~

g7e] : Tl ;- WSy : ?

Options:
1. & 3rthieAt



2. % o
3. % =9

4, % FSMfwa

Question Number : 66 Question Id : 25498919031 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Select the option that means the same as each of the given words.

Canoe, Raft, Wangan
Options:

1. % Dinghy

2. % Shallot

3. % Canopy

4. % Submarine

Question Number : 66 Question Id : 25498919031 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
39 faehet o1 I+ o gt 31 T 71T v Sreg & 9o B

& (Canoe), Iw (Raft), aiv< (Wangan)
Options:

1. ¢ Shift (Dinghy)

2. # B¢ WA (Shallot)

3. % &ar (Canopy)

4. % gagsst (Submarine)

Question Number : 67 Question Id : 25498919623 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Select the alternative with the most appropriate description about these three words.

Voodoo, Sorcery, Necromancy

Options:

1. # They are ancient arts found in sculptures.

2. ¥ They are terms connected with black magic.
3. #* They are ancient scripts.

4. # They are means of communication of pre-historic age.



Question Number : 67 Question Id : 25498919623 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
g9 dF <real & ey | ged IfRd fdavor aret fased o1 aa+ e

qg : Sg-aHT : Ud-faer

Options :

1. % I yreiie sherd ¢ St gidat # dem ot fAerdt 81
2. ¥ A Hlel S1E 8 9[S Uk g

3. ¥ gy fafu g1

4. % g gd-ofagiie g & TaR o1 QY- g

Question Number : 68 Question Id : 25498939829 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Four words have been given out of which three are alike in some manner, while the fourth one
is different. Select the word that is different.

Options :

1. * Cygnus
2. % QOrion
3. ® Scorpio
4. ¥ Vega

Question Number : 68 Question Id : 25498939829 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

IR Ut QU g §, O @ 9 <rse fohedft =0  vep gum= € Stafeh =it 2rsg fafv= €1 srawme L1se ol g &l
Options :

1. ¥ g4 (Cygnus)

2. % @1 (Orion)

3. ¥ gfges (Scorpio)
4. ¢ 3 (Vega)

Question Number : 69 Question Id : 25498940049 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Four pairs of words have been given, out of which three are alike in some manner and one is
different. Select the word-pair that is different.



Options :

1. # Sahara : Africa

2. #® Thar : India

3. " Kalahari : America
4. # Gobi: Mongolia

Question Number : 69 Question Id : 25498940049 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

reel & IR Site ey g €, fo=d & i forelt g @ a0 & 3R Ueh 31eiT 81 I Usa-iH ohl T390+ ohe Sl 94 81
Options :

1. % ggRT ; 3rthichr

2. % YR YRd

3. ¥ FHAER : ARAT

4. % & : Amferar
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Number of Questions to be attempted: 6
Section Marks : 6
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Maximum Instruction Time : 0
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Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2549895324 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Dalmianagar of Bihar is famous for:
Options :

1. % silk

2. ¥ cement

3. * |eather



4. # jute

Question Number : 70 Question Id : 2549895324 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fIgR &1 STaffaTR fohges forw ufdg 82
Options:

1. % 1M

2. ¢ e

3. % gng

4, % ¢

Question Number : 71 Question Id : 2549899664 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Government of India has decided to declare which of the following rivers as the ‘National
River’ of India?

Options:

1. ¥ Ganga

2. % Yamuna

3. ® Brahmaputra

4. = Kaveri

Question Number : 71 Question Id : 2549899664 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

WRA TR = Fmfafead § & forg 7d @l ‘g 7é & wu A aiftd e ot Aol foar 82
Options:

1. ¢ T

2. % ggAT

3. % g1
4. % Gy

Question Number : 72 Question Id : 25498912800 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Duleep Trophy is associated with the game of:
Options:

1. * hockey



2. % cricket
3. * football

4. % padminton

Question Number : 72 Question Id : 25498912800 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
feefta githt fr & & fohe @1 & Taifad 82
Options:

1. % gicht

2. ¥ fohdhe

3. ¥ gedld

4. % Ssfrica

Question Number : 73 Question Id : 25498922845 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Ascaris is found in:

Options:

1. ¥ the intestine of man

2. #% the muscles of pig

3. # the coelom of human

4. * the blood of man

Question Number : 73 Question Id : 25498922845 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TThiRY (Ascaris) F=fafea & @ fogd urar Sirar 82
Options:

1. 5T St aiiet &

2. % gaR < Aigusf A

3. % ww & dem A

4, % gy & Th H

Question Number : 74 Question Id : 25498933642 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following amendments of the Constitution of India deals with the issue of



strengthening of the Panchayat Raj?
Options:
1. % 42nd
2. # 44th
3. % 73rd
4. % 86th

Question Number : 74 Question Id : 25498933642 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

WRTT dfder a1 = & & sl a1 deite damadt st i Aot 9 defad 82
Options:

1. # 424

2. % Adqi

3. ¢ 73ai

4, % 86dai

Question Number : 75 Question Id : 25498935417 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘Economics is what it ought to be’ - this statement refers to:
Options :

1. % normative economics

2. % positive economics

3. # monetary economics

4. * fiscal economics

Question Number : 75 Question Id : 25498935417 Question Type : MCQ Option Shuffling :
Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
“JIURATE I8 g STt IY g1 A1eT” I8 oy A= & T forad 96fda g2
Options :

1. ¢ fSame srfams (Normative Economics)

2. % geprcHeh 1AM (Positive Economics)

3. % hifgen srdams (Monetary Economics)

4. % IJoThReTT S (Fiscal Economics)
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Question Number : Yes Calculator : None

Summer camps are supervised camps conducted to entertain as well as equip students
with various life skills such as teamwork, socializing, decision making, independent and
responsible living and more. It aids the overall development of a child and children have
fun during this process as they get to explore new arenas.
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Question Number : 77 Question Id : 25498941468 Question Type : TYPING TEST Display
Question Number : Yes Calculator : None

Earthing is a component of an electrical circuit that is of utmost importance. It can be
either a neutral earthing or an equipment earthing. Making proper earthing is a must
for safety. It is vital to know about its utility and about the impending risks if earthing is
not done rightly. Knowing the earthing properly will promote your safety. With proper
earthing installed you may stay safe while using your electrical gadgets. Earth has a
conductive surface. Due to this particular reason it is used as a safe charge conductor
and neutralizer for universal standard of all electric systems. It is in use from the very
beginning of the electrical distribution system installation. Electricity is essential in our
life. It also has certain dangerous risks imbedded in its distribution system that may



have perilous effects on the users of these electrical systems if anything goes beyond the
rule and safety protocols. Earthing is one such safety protocols in an electrical system.
Any fault occurs in an electrical wiring system it mostly leads to impact damage. It may
also sometimes cause the failure of the equipment. During the fault phase a potential
difference occurs between the metal parts of the electrical system. If anyone by chance
gets in direct touch with these parts there is a high chance that they will be exposed to
an electric shock. Many a times shocks like these could be fatal. Considering such these
risks the system of creating an earthing was introduced and the convention is still on.
Earthing and grounding are two different words. But they are used for conveying the
same meaning. In an electric wiring system the earth or ground is a conductor that
provides a low barrier path for the earth to prevent hazardous voltages affecting the
devices. The term earthing and grounding means connecting the electrical system and
equipment to the ground by using a suitable conductor. Earthing is a process
customarily used to increase the safety of electrical appliances and to prevent electrical
shocks. Earthing is used for multiple purposes. It saved human life from the danger of
electrical shock. It provides an alternative path for the current to flow so that it will not
impose any life risk on the user. It is also used to provide a stable platform for the
operation and safety of sensitive electronic equipment. It maintains the voltage at any
part of an electrical system at a known value to prevent the risk of the supply of high
voltage on the appliances. An appliance may be damaged if it is exposed to such high
voltages. It is also used to protect buildings. Earthing is also used to provide a safe path
to dissipate lightning and short circuit currents. Earthing is also very important from
technical point of view. It has become a mainstream practice in the electrical industry
for creating an electrical circuit due to some excellent advantages. The earthing system
helps to detect all the defects that occur in the phase. It protects against electric shock
and prevents circuit from damage. The system of earthing also helps in case of insulation
faults. It helps eliminate the risk of fire or explosion in the circuit. Earthing in an
electrical system can resist damage to electrical appliances by preventing excessive
current through the circuit.
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